BJ130-B1 Tvoo5VTrINTSIIHAT)

RaHS

®
T

imAoC

3 ij:/J

|
\
I I
\
‘ - 1
- |
M1 ABRFERIL H u
Ivl Hy—
SCM435
BEAGR S45C
MR LSRR | MRk
B -
2 OE ol S, I M L | R |w|L Mi L'l d | He | P
RR “z2) (max.)
BJ130-08020B1 20
BJ130-08025B1 | 25 | 10 | — | — | 25 | 50 | 24 | M 8x1.25-50L | 19 | 6.6 | 10 | 38
BJ130-08030B1 30
BJ130-10030B1 IEREL )
B > | 2 20| 60 | 28 | M10x15-65L | 21 |9 | 12 | 45
o I70TH | FESYY =1
am & H Hs D W Hz | Wi (kN) (N'm) ®)
BJ130-08020B1 15 38 175
BJ130-08025B1 | 39 | 25 | 22 | 10 | 12 | 6 12 33 185
BJ130-08030B1 10 30 190
BJ130-10030B1 13 38 315
BJ130-10040B1 | >+ | 30 | %5 | 12115 1 8 7, 32 330

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239

9 I-KL-DaD



o & Hi z7) M L= | R | W2 | L M1 ] d |Hs | P
BJ130-12040B1 40 25
BJ130-12050B1 — — | 50 03
BJ130-12060B1 60
Bi1301214081] © | 15 31| 75 | 35 | MI2X17580L [ 11| 14 | 55
BJ130-12150B1 M12x1.75 | 38 | 50 2
BJ130-12160B1 46 | 60
BJ130-16040B1 40
BJ130-16050B1 — — | 50
BJ130-16060B1 | 40 15 60 | 85 | 42 |M16x2 -85L| 25 | 13 | 16 | 65
BJ130-16150B1 38 | 50
BJ130-16160B1 MI2X1.75 46T 60

=<~ | o E=

BB H |Hs| D | W | He | Wi 77{,\]7)73 ﬁﬁmg’;) i ’f;
BJ130-12040B1 | 67 16 18 60 595
BJ130-12050B1 | @ 14 50 650
BJ130-12060B1 20|32 | 18 10 12 46 675
BJ130-12140B1 | 67 16 18 60 585
BJ130-1215081 | . 8 14 50 640
BJ130-12160B1 12 46 665
BJ130-16040B1 38 170 930
BJ130-16050B1 31 150 980
BJ130-16060B1 | 76 | 40 | 36 | 22 | 21 | 14 | 26 130 | 1025
BJ130-16150B1 31 150 965
BJ130-16160B1 26 130 1010

BVFROT 5T RETT BRMICCHASNEE. 7275 THONLY

BAlE DA, TR ERBBEICER I EEHEDLET,

EFBY - EFJTIE

an * M2 M3 P2

BJ130-08020B1
BJ130-08025B1 | M 8x1.257%&20 | M 6x1 38
BJ130-08030B1
BJ130-10030B1
BJ130-10040B1
BJ130-12040B1
BJ130-12050B1
BJ130-12060B1
BJ130-12140B1
BJ130-12150B1
BJ130-12160B1
BJ130-16040B1
BJ130-16050B1
BJ130-16060B1 | M16x2 F&25 | M12X1.75 | 65
BJ130-16150B1
BJ130-16160B1

M10X1.5 ZF&21 | M 8x1.25 | 45

M12x1.75%8&25 | M10x1.5 | 55

£ - #18A TEL.0575-28-4811 TEL.0575-32-2239 97 D-KL-I3D



